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INSTRUCTIONS h

All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, 4 mark will be deducted,

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B,C,orD.

Use only Black/Blue ball point pen 10 mark the answer by complete filling up of the
respective bubbles,

Mark the answers only in the space provided. Do not make any stray mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your full signature
in appropriate boxes in the OMR. !

The OMR is liable to become invalid if there is any st b filling the correct bubbles for
question booklet number/roll number or if there #5° wﬂllt:rcpmy in the name/ signature of
the candidate, name of the examinatioff tégiys. OMR may also become invalid due to
folding or putting stray ﬁﬁ li_;ar’aﬂy"danmgc to it. The consequence of such invalidation
due to incorrect marking _la:'eir.ss handling by the candidate will be sole responsibility of
candidate.

Candidates are not allowed to carry any written or printed material, calculator. pen, docu-
pen, log table, wristwatch, any communication device like mobile phones etc. inside the
examination hall. Any candidate found with such items will be reported against and his/her
candidature will be summarily cancelled,

Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

Hand over the OMR 1o the invigilator before leaving the Examination Hall.

This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and wil]
be treated as final,
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LIFE SCIENCES

Casparian strip is the suberin deposit in the cells of:
(A) Pericycle (B) Cortex
(C) Endodermis (D)  Epidermis
CISEEL Ll —. 30 *nsT
(A) e (B) »0w (fewm)
(€) wgw (D) feye
During CO, fixation in C, plants, the first stable compound is
(A) PGA (B) PGAId
(C) RuDP (D) DHAP
€, BT CO, fifvwa 3w Byw oew wh Red 2w
(A) PGA (B) PGAId
(C) RuDP (D) DHAP

~
Example of an alkaline plant hormone s =53 '
(A) Auxin o :,_:_ ~<(B) Gibberellin
(C) Cytokinin all- Bl (D) ABA
a3 Wy W—M W T
(A) wfEm (B) ferwrafem
(C) w=Bretfem (D) ABA

Which of the following conditions favour transpiration ?
(A) High humidity

(B) High wind velocity

(C) Needle shaped leaves

(D) Stomata present in pits on the leaf surface

BT Tl R T — W 7

(A) wfew wnfe

(B) ¥ Igerarz

(C) Premem

(D) *merR oSz s W
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5. Development of sporophyte directly from gametophyte without production of gametes is

known as

(A) Apospory (B) Apogamy

(C) Gametogenesis ' (D) Exogamy

e @3 SeofE wuiE fma W (UE @ R Ref SeefdtE A
(A) AR (B) SR

(C) SCAG SR (D) aramfE

6. Germination of lettuce seed is promoted by

(A) Green light (B) Red light
(C) Blue light (D) Darkness
@ Ao SEERE GRS I o
S
(A) & A AR W
(C) R e o lD) SRR
i St
”~
i
7.  Nitrogenase becomes ina&\t‘
(A) in absence of leg hemoglobin (B) in presence of CO,
(C) in presence of O, (D) in presence of light
Tamfeme ey @ T
(A) T feramafe wefefere (B) CO,-a% TefEfers
() O,a3 TefEfers (D) e SefEfere

8.  Which of the following organic acid is a tri-carboxylic acid 7

(A) Citric acid (B) a-Ketoglutaric acid
(C) Malic acid (D) Pyruvic acid

A5z oW e wibel @ IR S

(A) wafie = B) ofetipfE wifs
(C) wifers e (D) *rEefes wfis
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The CO, acceptor molecule during photosynthesis in C, plants is

(A)  Glucose (B) Starch
(C) Phosphoenolpyruvate (PEP) (D)  Glyceraldehyde-3- phosphate
C, SR W@ MerRTre e CO, 1= wg z=:
(A)  gremer (B) TI®AR (Starch)
(C) ¥ wTANEEE (PEP) (D) frmrefearts. 3 wmras
Light capturing photosynthetic pigments are precisely located in
(A)  outer membrane of chloroplast (B) grana membrane
(C) thylakoid surface (D) stroma
SCETF TR AATRCR 39T ey s e
(A) TTMBT AFeonfi (B) &=1 =
(C) RIS “pow (D) &
-~ {;O ?)‘,
Fruit ripening is mainly causegyby 1 ii,hhml -
(A) Gibberellin \Je (B) Cytokinin
(C)  Auxin (D)  Ethylene
TS [ WA AR ME W oz
(A) forwefam (B) RTBRE A
(C) wfam (D) Ffeferm

The enzyme activity of succinate dehydrogenase is inhibited by -

(A) Malonate (B) Pyruvate

(C) Glycolate (D)  Phosphoglycerate
Wﬁmﬁﬁlﬂtﬁﬁm&mﬁmmwmwmw
(A) SCHAICD (B) *rEarsh

(C) AT (D) TePIEHs
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13. Respiratory Quotient means the ratio of volume of

(A) CO, produced /O, consumed (B) O, consumed /CO, produced
(C) O, produced /N, consumed (D) N, consumed / CO, produced
™ ¥ibE SeEE WSE PW W I W T
(A) Beafis CO,/ 1@% O, B) 18w 0,/%esifis CO,
(C) Tesfis O,/ 78S N, (D) 78 N,/Tesfis CO,
14. Fermentation ability of yeast is due to
(A) Amylase (B) Invertase
(C) Zymase (D) »Galactase
TH-9% TEW TR HW A T qi
(A) STIETEe ~ I"}g‘! EeTSw
(C) e P o ! (D) e
15. The cavity of gasmga_.iﬁ:;ncd '
(A) blastocoel R (B) haemocoel
(C) schizocoel (D) archenteron
mrgeR TgEhE T
(A) FCHF (B) farsifa
(€) ferefE (D) SRAEAEE
16, Hydrogen bonds play an important role in
(A) a-helix (B) p-pleated sheets
(C) between two strands of DNA (D) All of the above
TR I6-93 eFgd ofve e T
(A) o-TEfFrd-« (B) B-TobE fG-4
(C) DNA-«@ %o weursz T3 (D) BoEw WE @l
17. The final stable community in ecological succession is
(A) Pioneer (B) Sere
(C) Climax (D) Carnivores
agefs “weerm wEen gl oz
(A) =i (B) T®
() “Mégy (D) e
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18. Chitinisa
(A) nitrogen containing polysaccharide (B) protein
(C) cellulosic compound (D)  lipid compound
TR 27 gl
(A) TRGMET & “Fremris (B) Terfbw
(C) TrEre s (D) WR wrdty e
19.  Which one of the following combinations is incorrect ?
(A) Lotus- Aerenchyma (B) Rohu- Lateral line
(C) Cactus- Sunken Stomata (D) Pigeon - Myotome muscle
B3 R s v
(A) *M - Ry | (B) ¥ - Wiy
(C) FMeH - fArafre oy (D) *FR1 - WA Topd

20. Which one of the following is the correct sequence of energy conversion in living
systems ?

(A) Light energy- heat energy -chemical energy

(B) Chemical energy- light energy - heaa enﬁryﬁ"f
(C) Heat energy - light energy-ehemical energ$ 4
(D)  Light energy- gheriiical energy — heat energy
MNEw T w3 @
(A) W= & - oo R - e o
B) TE *fE . wew we - wey e
© 1 & - W o - Pt e
D) WEF & - wmfe ofe - oy

21. In logistic model of population growth, K stands for

(A) carrying capacity (B) survival capacity
(C)  loading capacity (D) none of the above
TR /AT wow k' fnte v

(A) EFwTY (B) Wmwrrwwe

(C) Srwwe (D) ¥R\ @FAME

Life Sciences 7



22.

PUBDET-2019

Sponges are
(A) pelagic (B) free swimming
(C) planktonic (D) sessile
g T
(A) wifEE o @) TR e @
() Fawaw € (D) TETSER §R
Ringelmann scale is used to measure density of
(A) smoke (B) fog
(C) polluted water (D} none
TR 59 APE WY AT TGS TW?
(A) T (B) FWM
(©) wf¥we= ©)_ pﬁ@ w4
™

Cryopreservation method is used to pre:_winf_:' e

(A) dead specimens of cryptogams: . * 2

(B) endangered species in Ll:ﬁl;tu?al habitats

(C) cells from embryo and s lips

(D) food in deep frozen condition.

sgwEE oW E-PEmeE el e ¥ T

(A) ¥S v BfECTE T MIAWCTE w

(B) fas sefoefires ©UA MOfE IOET FIAFCH B
(C) TR TIM [ IMST WLE MIWCE T

(D) feu-Frer w1 P RIFTE T

In human, 2n = 47 should be the chromosome number of following affected person-
(A) Down's syndrome only

(B) Turner's syndrome only

(C) Klinefelter syndrome only

(D) Both Down's and Klinefelter syndrome
mﬂmmmrﬁmmwmmw In=47 TW

(A) oY wita PeEiew TR

(B) @y Brmr PAETER TR

(C) ©y FEREHR FAETE TFE
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Nonsense codons are

wwed (R TR T

(A) UUA, UUG, Uuu (B) UAG, UAA, UGA
(C) AAA, AAG, UGU (D) AUA, AUG, UGA

Which of the following results when viscosity of blood increases 7
(A) Mean blood pressure increases

(B) Radius of the capacitance vessels increases

(C) Radius of the resistance vessels increases

(D) Central venous pressure increases

& rES e TIE AT @O WO ?
(A) o FTEr AR W

(B) qee rermeE A I
©) Ta¥ TerweR A [ M
D) @i fem e P W

Which of the following has non- myelinated nerve fibres !

(A) Optic nerve (B) Cramal nerve
(C) Spinal nerve (D) Autonomic nerve
57 EED e SR REW Ay
(A) w=foE aY /. L
(©) =R Y e @ W
8 "
The structure which prevént the entry of food into respiratory tract is
(A} Pharynx (B) Larynx
(C) Glots (D) Epiglotus
A7 @EG EERS WTTE S0 T T
(A) (B) T
) T™ (#%) @) sfrran (afaf)
Pepsin is an enzyme which acts in -
(A) alkaline medium in stomach (B) alkaline medium in duodenum
(C) acid medium in stomach (D) acid medium in duodenum
reieffie  Bepmal IE WA
(A) eragfem AW T (B) oxfy WM WA
() R SRS WA D) geitr wfFes W
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3. The importance of rods and cones in the eye of a vertebrate are
(A)  Rods are important for vision in bright light and cones in dim light.
(B) Rods are important for visjon in dim light and cones in bright light.
(C) Rods are involved in coloyr vision and cones in distinguishing intensities of light,
(D) Rods and cones are both important for vision in dim light.
TS oMo BReE T 6 e IR oFy =

0
: oy
32.  Hyposecretion of vasopressin causes ""k::ﬁ-‘, '
-~
(A)  Diabetes insipidus _,ﬁrx":fm Diabetes mellitus
« .
(C) Cretinism r‘; Cr (D) Acromegaly
TS (vasnpressm}-m%'m BAH B T
(A) TrEBw E=fifmm (B) ©nmafw rafemm
(C) Tarffiers (D) SR

33. Correct Sequence of hormone secretion from beginning of menstruation is —
(A) FSH-LH- progesterone — oestrogen
(B) FSH - O€strogen - progesterone
(C) Oestrogen - LH - FSH - progesterone
(D) Oestrogen — progesterone — FSH

(B) FSH - Erfmems - a4 ihe O
(C©) Tcrdmew - LH - FSH — sfrer6zs
(D) 2WHET — srmroe FSH

Life Sciences 10



4.

35,

37.

PUBDET-2019

Which one of these is mediated by ADH action in kidney ?

(A) Lowering in blood osmolarity (B) Raising in blood pH

(C) Lowering in blood pressure (D) Raising in blood glucose
e W Tl @ ADH-9F TGEFOH WO ?

(A) WET WFRT WG TH FW (B) W& pHI® =x

(C) ¥GH FH T (D) WE wam oftwm I[/_ I

Mature insulin contains

(A) A and C peptides (B) B and C peptides
(C) A, B and C peptides (D) A and B peptides
ofirs ETFoferA «E

(A) A & CTH0IR® (B) B@ CTOrEe
©) AB S CUTPDES (D) A S BTHES

HIV can survive
(A) Only in blood oo™
1 £ ]

ﬂﬂ)r?@?jnal secretion

(C) Only in semen ‘,‘; R R r[}] All the above
HIV T 4¥7% M3

(A) ST AT (B) SYWW TH=ICH
(C) BYIE ST (D) Jawe FAeFreE

Which bacteriophage was used by Hershey and Chase to prove that DNA is a genetic
material?

(A) T, bacteriophage (B) bacteriophage A
(C) Bacteriophage M 13 (D) T, bacteriophage

‘DNA @3 fanme Some- < oW T @ Hershey § Chase T3
abfsee ¥ wEr ©EIA IIET FEEEA ?

(A) T,ambfaswe (B) Wmbfaswmer A
(C) wmbfaewer M 13 (D) T, oRswe

Life Sciences 11 A



PUBDET-2019

P. Aspergillus niger I 1. Alcohol
Q. Lactobacillus sp. ‘

R. A cetobacter aceti

L 8. Saccharomyces sp.

R. Acerobacter aceti

S. Saccharomyces .| v, ‘*'ﬂﬁ'dr wife /

(A)  P-iv, Quiii, R, sbtf (B)  P-iii, Quil, R, S-iv

(C)  P-ii, Q-i, R-iv, §-jji™" (D) P-i, Q-iii, R-ii, S-iv

39. The term ‘totipotency’ means
(A) capacity of a cell Lo generate a whole plant
(B) Capacity of a bud to generate whole plan
(C) capacity of a seed 1o germinate

(D) capacity of a cell to enlarge in size

T Ty wd o

(A) MWWWWWWW

(D) mmwsﬁ'«m
Life Sciences 12
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40. Transgenic mice are developed for use in testing the safety of

41.

42.

(A) Antipyretics (B) Antiseptics
(C) Vaccines (D) Antibodies

w @R faee gEe o@we ww ofifEe fE@e (Transgenic) B T
T OTEW TA

(A) =foerErEha (B) wnforahe
() e B (D) el

Southern blot hybridisation is performed to detect the presence of

(A) DNA (B) RNA
(C) Protein (D) Lipid
fare Bof#fs WG 3@ W Southemn blot hybridisation (RFIII) IA TH?
(A) DNA (B) RNA
© tafes _ (D) fefore

Which transgenic plant was created by adding genes encoding cry-1 toxins of Bacillus
thuringiensis 7

(A) Tomato (B mﬁ’%{
(C) Tobacco g~ T1IDL Butubd

Bacillus thuringiensis-43 cr}w'!"mxi:; e wree R fom I I TEW
ofiaf¥e farmr Bfew A T@ wfEs

(A) Orad! (B) &
(C) M= (D) ==

Name the first human hormone produced by recombinant DNA technology:

(A) Thyroxin (B) Testosterone

(C) Insulin (D) Growth hormone
A9 (AW WAR-TAAHAD WDNAWN‘&WW?
(A) «EEA (B) TBCHTHIR

() Eem (D) & AW

Life Sciences 13 A
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White blood cells that are non-specific killers of microbes are :

(A) Killer T cells (B) Helper T cells
(C) PBecells (D) Phagocytes
RIS LS LR (T p— o z=

(A) W& T rap (B) FErwrr@d T ram
(C) p oM (D)  #TCoTES

(A)  Xanthomonas (B)  Pseudomonas
(C)  Azotobacter (D)  Bacillus

(A) wgfiEm (B) Prérsmamrs
(C) wmembrRYz @5 &
g K_. i
.
A group of animals which are relatedByXdescent and share many similarities are referred
to as #.{ : 4: -
(A) breed qﬁf (B) race
(C)  variety ™ (D) species

mﬂmmmwmmmwﬁawwmmw

(A) "M== (B) wfe
(C) by (D) s

(A) GIFT (B) ZIFT
(C) IcsI (D) ET

Life Sciences 14
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-GAATTC- is the specific recognition site of which restriction endonuclease 7
e @R WREe qERCHEEE FEI@ TW T GAATTC?
(A) Haelll (B) BamHI

(C) HindIIl (D) EcoRl1

In which phase of mitosis sister chromatids are pulled to opposite poles ?

(A) Metaphase (B) Interphase
(C) Telophase (D) Anaphase
MERTE ERTE GBr wEtef el e fite oW I
(A) TWOTCZe (B) YoRTEe
(C) Torwmee (D) SEICES

Which one of the fol‘.m—ring paifs‘is correct ?

(A) Parkinson's disease - X and Y chmmoso {
(B) Haemophilia - Y chromosqme=" £ g " "

(C) Down's syndrum{—:; P chromosome

(D) Sickle cell anaemia — X chromosome

Rz oW e Aew

(A) R M- X6 Y TERCaeTs

(B) feraffenn - Y wrICHCETS

(C) ©TS7A mTE - 219% TRFCsCes

(D) Frem wm SR — X e

—_—

Life Sciences 15
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